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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

- 1.  Choose the correct opt1on /Fill in the blank :
' 1x7=7

.’ @ﬁ%{ﬁﬁﬁ@%@i/ﬁﬁ?ﬁﬁ*’

(a) When using sign test, if two scores are
tied, then

‘o S IR FRICo W O WA G
F, (o
(i) we count them

- S IR
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(i) we discard them

st av e

(iii) it depends upon the scores
. 3@ AW O esige ST T
(iv) None of the above
G2{<] I8 A=A O

(b) If a Chi-square goodness of fit test has
6 categories and N=30, then the .
correct number of degree of freedom is

M G5t FIZ-I9(1 TARTS #=[wre 661 (o i
AT HF N =30 2, (ST TG Wl T'F

@M S
(ii) 6
(iii) 28
(iv) 29
(c) Compared to parametric methods, the
non-parametric methods

ABTIE R[0T PG S-LABEIE A SR o
(i) are less accurate

I AR
(ii) are less efficient

I T
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(iii) are computationally easier
NIANSSITE AZT -

(iv) (ii) and (iii)) are correct but not (i)
(i) S (iii) ©F F% (i) =7

d) If AB<-(—‘E)E(-§—)-, then the association

between two attributes A and B 1S
v AB<(—A%(§2 T, (O3 90! &9 A U

B-3 TR 7¥E T

i) O
0]

(ii) positive
A

(i) symmetric

 fe

(iv) negative
NP

(é) ANOVA is a statistical method of
comparing the of several
populations. (Fill in the blank)

@Mme FAIfeT T R IR
T3 AT A=fSTor (2% ANOVAI
(AT 2 93 F9)
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(f) Consider k independent samples each
containing n;, ny, ... , Ng items such that

n, +n, +...+n, =n. In ANOVA;we use
F-distribution with degree of freedom

431 ET kBl Tog afen< AfStornE ny, ny, ...,
n Ol (1B QACH, TS ny +ny +..o+np =n W
GAR ANOVA-T IR F-a%‘:m FOF WA 7'
() k-1, n-k
(i) k-1, n-1
(iii) k-n, n-k
(iv) n-k, k-1

(g) The .probability' of type II error when
=005 is
o= 0057 IR faohy w@em FHI TBIfior
T T
(i) 0025
(ii) 0-05
(i) 0-95
(iv) cannot be determined without

more information

4 U AE W Sl e 73
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2. Answer the following questions briefly :
2x4=8

Ted SRRTIRR Tl HIeE ol ¢

(a) Define type I and type II errors with
examples.

ﬁ@@@@%wfi—%wmw«
Wﬁ\mﬁml

(b) Mention three basic principles of design
of experiments.

Pl SR fOAD T TS S =

(c) Explain sign test for symmetry.
e crae BF SATFIO! Yt 1|

(d) Define association of attributes.
@) EEd el

3. Answer any three questions from the
following : 5x3=15

wee WANRAET e fofor 243 Tel 311 ¢

(a) Write down all the conditions for the
validity of x2-test of goodness of fit.

UHENE (Pl ANFR CFAS IRZS (XA
22-35(% ATAR 5O T T4 |
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(b) In a large city A, 20% of a random
- sample of 900 school children had
defective eye-sight. In other large city

B, 15% of random sample of 1600
children had the same defect. Write
down the required hypothesis and
hence verify whether the difference

. between two proportions are significant.

G2 TIed 529 A-9, 900 TI-TA 1% foods 20%
Tfees dfomi wibge 7R =« amd @R
7'F | S 9349 534 B-, 1600 FA-Ra11 foeae
15% Ao 2fomfa i@ €23 T ol Corl
1'% | TAYE STHCO T S A Seeired
RGN LTS A Q|

(c What do you mean by Yates’
. correction ? Can we apply the same to
every 2 x 2 table even if no theoretical

cell frequency is less than 57
4+1=5

BB W I & e 2 x 2 TS ¢
@yl wif e ok AR T Gbie i
AIQITS! 5-F (T I AL ?
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(d) Given the frequency distribution —

1/6, 0<x<8
f(x, 6)= { O, otherwise

and that you are testing the null
hypothesis Hy : 8 =1 against H, : 8 =2
by means of a single observed value of
- - x. What would be the sizes of type I

and type Il errors if you choose the
interval as follows? _

() 0-5<x
(i) 1<x<1-5
as the critical region
| IRERS] I ToTe A q@qwe A s —
| 1/, 0<x<é@

f 9)_{ O, otherwise
ol e o5 Hy :0=1-3RACF H,:0=2
S T 51 (R TS x-3 &G Wbl (s
T sz 4w 1R S o Tsh w1ow

s ) 7 W [ 773 3z IRemee! e
A T2

(i) 0-5<x

(i) 1<x<1-5
Fif o= «e
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(e) Fill in the blanks of the following table :

oS il FRiATS AR SiTT o[ 1 8
Source df.  Sum of squares Mean squares F
B ymwa % e ol - F
X 6. - | - -
Y 10 - 1095 -
Error (®B) - 10160 -
Total () 60 18225

4. Answer any three questions from the
following : 10x3=30

wote MANRRA fArrea fofor et Beg ot ¢

(a) Discuss the analysis of randomized

block design (RBD). 10
e e A9rF Sfeerm [Regge s
A '

(b) State and prove Neyman-Pearson

fundamental lemma. 10
ReR-FPirRe-3 e st ot =i 2
9 |
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(c) ()

Two sample polls of votes for two

candidates A and B for a public
office are taken, one from among
the residents of rural areas. The
results are given in the following
table :

51 IFR] FIRAETI I T& AN A 523
B e =Rkata «or afewd cei6 az
TN W TATTR ©oR Sifaere fam
[E1CE

Area (m)
Rural (&17)
Urban (b%3)

Vote for ((SH) Total (I3)

A B
620 380
550 450

1000
1000

Total (0)

1170 830 2000
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Examine whether the nature of the
area is related to voting preference
in the election. 6

(Table value of x? for 1.d.f. is 3:841)

SArE T4 (@ (SIOVAR IO QTETIIR
HDRE C2F €3 TE@ @ A

(%2-391 SIfeTg® TR 1 g VAR FR
3 =z 3:841)
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(i) In a series of houses actually
invaded by smallpox, 70% of the
inhabitants are attacked and 85%
have been vaccinated. What is the
lowest percentage of the vaccinated
that must have been attacked ?

4

AF WiF [ WEE By SRFER 70%
SRIPT SIS (2% O 85% SR
#fSrags o IR dfsraes g =
I TSR I SRA] WFT (AR
Tienedt |

g

(d) (i) Write down the hypothesis that is
tested in completely randomised
design (CRD). Hence write down
the AOV table. 2+3=5

T qfoee AT SRS <<

FfRaAN eFeT ol | 2 TS @R
R oifeeim 2ge 1| @&

(ii Estimate the missing value in case
of CRD. S

il Qo “1Sre wferETE AR Fede
(1% A=STo! STEE T[4 |
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(e)

An insurance agent has claimed that
the average age of policy holder who
insure through him is less than the
average for &dll agents which is 30'5
years. A random sample of 100 policy
holders who had insured through him

gave the following age distribution :
10

GGy W GTSCS WK1 IR @ (€T 7€ A
T (30-5 TR)-O0F T | GGl 100 T A2IF
aifon foeee SrEfIe Gres Tk SiREcs i
I3, IR IBH Tore @ A o

.® " Age at last birthday : 16-20 21-25 26-30 31-35 36-40
(@R THrme 3T9)
No. of persons = : 12 22 20 30 16

(SFZA 70)
o

Calcualte the arithmatic mean and
standard deviation of this distribution
and use these values to test his claim
at the 5% level of significance.

[You are given that Z(1:65) = 0-95]
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ITADR AT TN TF TS [oer Sl
O % © IJATR FR TN QT TR 1R
5% FNdTel TT© A FqA |

[ 3 <tz 2 (1465) = 095 ]
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